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1.  The graph of the function f(x) is shown above. At which point on the
graph of f(x) is f'(x)>0 and f"(x)<0?
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2. The graph of a twice differentiable function £ is shown below. Which of
the following could true?
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3. The graph of the derivative f '(x) on the interval (0, %] is shown below.
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If g’(x)=-3f"(x), ho v&many maxmié&will g(x) have on the interval [0, 9]?
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4.  This is the graph of f’(x), the derivative of f(x).
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5. A particle is moving along the x-axis in such a way that its velocity at time

. n " :
t>0 is given by v(t)= th At what value of ¢ does v attain 1ts maximum?
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6. Above is shown the graph of f'(x). Givea value of x where fhas a local

maximum.

a) —4 @\ -1 c) —% d) 1 e) no value of x
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7. This problem involves finding the absolute maximum and absolute
minimum of the function f(x)=x>—3x+4restricted to the closed interval

x€[0,2]. Which of the following statements is correct?

a) f (x) has both an absolute maximum and absolute minimum at the end

points.
b) f(x) has both an absolute maximum and absolute minimum at interior

olnts.
/;) | f(x) has both an absolute maximum at an end point and an absolute
't_@nimum at an interior point.
8 ~ f(x) has both an absolute maximum at an interior point and an absolute

minimum at an end point.
e)  None of the above
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Show all work.

1. Given y= _x—i find the sign pattern for %C— and determine if the critical

values are at a maximum, minimum, or neither.
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3. Given y= (5 j\}9 x*, find the sign pattern for d— and determine if the

cr1t1cal values are at a maximum, minimum, or neith: r
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4. Given y= (5 j\/ , find the sign pattern for fl; and name the
points of Inflection. Dy - v —DL
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Show all work.

5. Sketch the graph of W function with the following information:

Name:

x<-3 —3 | 3<x<1|x=1 |l<x<5 | x=5 S5<x
f '(x) Positive | DNE | Positive | DNE. | Positive 0 | Positive
J "(x) Positive | DNE | Positive | DNE Negative | ( (L Positive
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6. Set up a Key Trait table and sketch y= T
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7.  Setup aKey Trait table and sketch y = (-ge x} 9— x*
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